Le passe compQqsé avec avoir (régulier et
irregulier)
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Horizontal
1) ON/AVOIR
2) NOUS/AVOIR
5) ELLES/FAIRE
7) JE/CHOISIR
10) JE/DORMIR
11) JE/VOIR
12) NOUS/METTRE
13) JE/ETRE
14) NOUS/ACHETER
15) TU/DORMIR
16) TU/CHOISIR

Vertical
1) JE/PRENDRE
2) NOUS/CUISINER
3) ON/ETRE
4) JE/COMPRENDRE
6) NOUS/ASSISTER
8) NOUS/ATTENDRE
9) NOUS/APPRENDRE
12) JE/PROMETTRE
13) ON/DORMIR




SOLUTION

< = > z < o - |»n
- - =
) < @) < n n “w o
L L [ @)
n = (@) n ol Ll o>
Z Z I n
o O ‘w O <
> - n = <
< @) w0 - - L n -
- = = - pd n
- ®) @ n < O = |-
-] I @] P > o
L O (@) o < T
< o - — > o
< < < o O - |»n
<




